This question paper contains 3 printed pages. Roll No............

2175/2125-11
B.A/B.Sc. (Part-I[) EXAMINATION - 2022

(Common for the Faculties of Arts & Science)

(Also Common with Subsidiary Paper of B.A./B.Sc. (Hons.) Part-II )
(Three-Year Scheme of 10+2+3 Pattern)
MATHEMATICS -11
(Differential Equations)

, 40 for Science
Time Allowed : 3 Hours Maximum Marks: )50 artg
HHg ; 3R ST 8% ¢ | 5 00 01d Scheme
Note / a1 :
1. Attempt five questions in all, selecting one question from each unit.
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2, Write your roll number on question paper before start writing answer of questions.
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UNIT -1/3&T8 - 1
1.  (a) Solve (¥ FIf9Q) :
xa{%): I
(b) Solve (% Hifo) :
YL togy = 2 (og
ax Ty o= g loey 4,4/6,5/6,5
2. (a) Solve (%« =ifw) :
xdx+ydy + T XX d'; —yzdx =0
x“+y
(b)  Solve (¥ WifS) :
@yt +2%y% + 22+ y)d+ (ehyd - y2 - a2y + )dy=0 4,4/6,6/5,5

UNIT-I1/ 3@ - II

8. (a) Solve (¥ wifo) :
(0x%+y?) (px+y)=(p +1)2, where (&) p=dy/dx.

(b}  Find the general solution, singular solution and extraneous loci of the following equation.

fre it 1 = &, fafa v a s fagan v wif

- dy
(Bp3-27)x=12p2y, where (V) P=7 4,4/8,5/5,5
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(@) Solve (¥ FT) :

4 3 2
d’y + 2 4y -8 jx‘: w3 4 302¥ + dainx,

2
34,%”@”. 4,4/6,5/6,5

UNIT - 111 / 3&18 - 111

5. (a) Solve (¥AFIAT) :

3 2
a4y 3d% _ ody
x—3+2:r— I—+.’(y 1

dx?
M) Solve (T FIfWQ) :

(1+x+12) 3+(3 6x) gi=0 4,4/6,6/5,6

Solve the following equations (¥ THisHvil & B @ HifaQ) :

dx dy
— 4+ 2x—-3y=t — —-3x+2y=
T =5 G y =

() Solve (¥ FfwT) :

dx #ig-_:.

dz
xﬂ_f_z2_2:y Do 4,4/6,5/6,6

UNIT-IV/ &8 - IV

Find solution of the following equation. (F=1 fefaw aite =1 7« 7@ Fifsm)

7. (a)
dz + (1 — cotx) & _ y cotx = sin®x
ar® dx

®) Solve (¥a HIRT) :

ed:)‘ s dy _ 1
+ 3x dx+ay_—2 4,4;5.515,5
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10. (@)
(b)

Solve (TS WifwQ) &

2
(x+2)§;§-—(2x+ E)%i—+2y-(l+x)o"

Solve the following equation by the method of variation of parameters.

(Freffem wiie =y e fify gra va it

g d%y dy 3
X 35—2.1:(1+x)a+2(1+x)y=x

UNIT-V/ ¥&E -V
Solve (% FifS) :

m(x+y)%+sm(x+ y)i‘f’- =z

Apply Charpit’s methed to solve the following equation.
(Frfeifiaa it it 5 7@ =0 % fow =t fafy =1 wim s
7 -1 &z o
—_—d " _——t e =
2xz—-x r= m&y-‘.&r@ 0

Solve (& ®if) ;

Solve (& HifwT) :

&= &Pz 98z %
12-3? +2@%+y25)'2_._(x2+y2) 2

-000-
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4,4/5,6/5,5

4,4/5,5/5,5

4,4/5,57/5,5



